INSTITUTIONAL CASTORS MANUFACTURING COMPANY



RODA S.A. has evolved from the family company created
in 1948. Over the last 35 years the company has become
by far the largest distributor of castors and wheels in
Greece.

The high experience achieved in this industry, had as a
result the creation of one of the most modern plants
specializing in the production of castors for
institutional applications.

The production plant covers an area of 3.600 m2
equipped with:

- state of the art tolling and machinery for pressings
- fully automatic own zinc plating line
- robotic, computer driven assembling techniques

and is supported by
-computer warehouse planning and stock control

Aggresive management, modern production techniques
and permanent quality control guarantee:

- the highest quality product range
- customer's support and
- long term development on new ideas




The product has been designed in order to meet

the following specifications:

8 ]

3
9
9

the bearing runways have been
forged for maximum hardness and
dimensional precision, to ensure
durability, long life and easy rotation
with tight tolerances

the assembling axis material does not
extrude from the main body
resulting in the security of the
trolley's user, eliminating thread
collection and offering an elegant
design

the diagonal edges combine reinforcement with beauty

the overall height is the same, regardless of the type
of fitting

the whole program is available in stainless steel




With careful attention to quality
through every step of production,
from the initial drawings to the final
product RODA S.A. designs and
produces products of highest quality
with up to date technology, in
conformity to the EN12530 norms
(TUV certified).



-~

y:
rocicl asa.

PRODUCTS CATALOG




ngCI s.a.

T

CODEDEFINITION

1. SERIES [ M| Mediom
s e

2. MATERIAL [~ Standard steel
Stainless steel

3. WHEEL DIAMETER

75

125

4. TYPE OF WHEEL TPE + Polypropylene
[N Nyons
|I| Polypropylene

5. BEARING Conus bearing
|I| Plain bearing

6. FITTING Top plate
Dimensions can be mentioned also, III it

if different than the standard e.a. Hole fmmg

H.10 for hole 10mm (when

standard is 12), or B. 12X30 in case Bolt stem

that the requested bolt is M12X30

while the standard is different. The Expunder round
same also for the expander size Expander square
definition.

7.TYPEOFSUPPORT [ S | Swivel
Swivel & Brake
[ F ] Fired

8. OPTIONS Metal threadguards
Only options can contain more than Stainless steel threudguurds
one description in the same cell.

Rivited axle

. 2. 3. 4. 5. 6. 7. 8.
| s | x l1o0  |TP LA | H | sBk | 6x |
SX.100.TPA.H.SBK.GX

EXAMPLE




@ Type of wheel

TPE + Polypropylene (TP)
Nylon 6 (N)
Polypropylene (P)

Bearing
Conus bearing (C)
Plain bearing (A)

@ Fitting

a. Top plate (T)

b. Bolt stem (B)

C. Hole fitting (H)

d. Expander round (ER)

e. Expander square (EQ)
Type of support
a. Swivel (S)

b. Swivel & Brake device (SBK) -

C. Fixed (F)

Options
a. Metal threadguards (G)

b. Stainless steel threadguards (GX)
C. Riveted axle (RV)




I I c- I Wheel: TPE + Polypropylene

THERMOPLASTIC ELASTOMER + CONUS BEARING Bearing Type: Conus Bearing

Options:

= For sfandard steel products in case threadguards are required, you have to add thel letter G at the
end of the code e.g MO5OTPCTSG. For stainless steel products for the same purpose you have to add
the letters GX at the end of the code e.g MX050TPCTSGX.

— - S Z ) < 0 _>=<_ T = stainless|
STANDARD STEEL > L \/{5 ’ﬂ‘ 1‘ = t“@ = S T\—D § \> —g‘ @
ARTICLE NUMBER | | mm | mm || mm Kg | | ARTICLENUMBER |
MOSOTPCTS 50 24 8 28  60x60 43-49x43-49 64 250 735 50 MXOSOTPCTS
MOTSTPCTS 75 24 8 28  60x60 43-49x43-49 64 305 1010 60 MXOTSTPCTS
MI0OTPCTS 100 24 8 28  60x60 43-49x43-49 64 400 1235 70 MXI00TPCTS
— MI25TPCTS 125 24 8 28  60x60 43-49x43-49 64 430 1485 80 MXI25TPCTS
@ | SoBCTS . 75 32 10 3  90x70 65-75x45-55 9 280  109.0 0 SXOBSTRCTS
O SlootPCTS | 100 32 10 36  90x70 65-75x45-55 9 400 1315 90 SKIOTPCTS
DUSIBPERY 125 32 10 36  90x70 65-75x45-55 9 400 1565 100 [ sxisteets
DOUSIEOEIS™ 150 32 10 36  90x70 65-75x45-55 9 450 1815 100 SXISOTRCTS

MOSOTPCTSBK 50 24 8 28  60x60 43-49x43-49 64 250 735 86 50 MX050TPCTSBK
MO75TPCTSBK 5 24 8 28 60x60 43-49x43-49 6.4 305 101.0 91 60 MX075TPCTSBK
MIOOTPCTSBK 100 24 8 28  60x60 43-49x43-49 64 400 1235 101 70 MXI00TPCTSBK
MI25TPCTSBK 125 24 8 28 60x60 43-49x43-49 64 430 1485 104 80 MXI125TPCTSBK
WOSosmeek 75 32 10 36 90x70 65-75x45-55 9 280 1000 95 70 | LSKOZSTPCISBK.
| SIOOTPCTSBK | 100 32 10 36  90x70 65-75x45-55 g 400 1315 107 90 | SXIOOTPCTSBK |
| SIBTRCTSBK 125 32 10 36  90x70 65-75x45-55 9 400 1565 107 100 | SKI2STPCTSBK |
| SISOCTSBK " 150 32 10 36  90x70 65-75x45-55 9 450 1815 112 100 | SKISOTPCTSBK |
MOSOTPCTF 50 24 8 28  60x60 43-49x43-49 6.4 735 50 MX050TPCTF
MO75TPCTF 75 24 8 28  60x60 43-49x43-49 6.4 101.0 60 MXO75TPCTF
MI0OTPCTF 100 24 8 28  60x60 43-49x43-49 64 1235 70 MX100TPCTF
MI25TPCTF 125 24 8 28 60x60 43-49x43-49 6.4 148.5 80 MXI25TPCTF
DsomsTeeE Y 75 32 10 36 90x70 65-75x45-55 g 109.0 0 SXOSTRCTE
DOSiooEET 100 32 10 36  90x70 65-75x45-55 9 1315 90 [ sKiooreerE
DUSESTPGETY 125 32 10 36  90x70 65-75x45-55 9 156.5 100 SXISTRCTF
DOSISOPGEY 150 32 10 36  90x70 65-75x45-55 9 1815 100 SXISOTRCTF

rodas.a
<




Options:

= |n stainless steel products in case Stainless steel conus bearings are required then you have to switch the TPC part of the

code to TPX e.g MXO75TPXHS.

P
STANDARD STEEL @ _;QL_ @ *ED:*
ARTICLE NUMBER | | mm |

MOSOTPCHS 50 24 8 28
MOTSTPCHS B 24 8 28
MI0OTPCHS 100 24 8 28
MI2STRCHS 125 24 8 28

DUonmesT s 32 100 36

_slootcHs 100 32 10 36

DUSisweHsT 125 32 10 36

DSOS 150 32 10 36

MOSOTPCHSBK 50 24 8 28
MOTSTPCHSBK %5 24 8 28
MI0OTPCHSBK 00 24 8 28
MI25TPCHSBK 15 24 8 28

| SOSTPCHSBK . 75 32 10 36

CUSIootPCHSBK" 100 32 10 36

CUSISTRCHSBK| 125 32 10 36

[ SISOTPCHSBK™" 150 32 10 36

MOSOTPCHF 50 24 8 28
MOTSTPCHF B 4 8 28
MI0OTPCHF 100 24 8 28
MI25TPCHF 125 24 8 28

DU 15 32 10 36

CUUSioomeHE 100 32 10 36

DUSISTCHETT 125 32 10 36

DUSISOTRCHET 150 32 10 36

*\* e ¢ stainless
) @ ¥) @ W (el

| mm | mm || Kg || ARTICLENUMBER |
10.2 250 735 50 MXOS0TPCHS
10.2 305 1010 60 MXO7STPCHS
10.2 400 1235 70 MXI00TPCHS
10.2 430 1485 80 MXI25TPCHS
12.2 280  109.0 70 SKOTSTRCHS
12.2 400 1315 90  SXIOOTPCHS
122 400 1565 100 | SXIsTRCHS |
12.2 450 1815 100 | SXISOTPCHS
10.2 250 735 86 50  MXOSOTPCHSBK
10.2 305 1010 91 60 MXO7STPCHSBK
10.2 400 1285 101 70 MXI00TPCHSBK
10.2 430 1485 104 80 MXI125TPCHSBK
12.2 280 1000 95 70 SYOTSTPCHSBK
122 400 1315 107 90 | SKIOOTPCHSBK |
122 400 1565 107 100 | SKI2STPCHSBK
122 450 1815 112 100 | SKISOTPCHSBK
10.2 735 50 MXO0S0TPCHF
10.2 101.0 60 MXO7STPCHF
10.2 1235 70 MXI00TPCHF
10.2 1485 80 MXI125TPCHF
12.2 109.0 70 SXOISTPCHF
12.2 1315 9  SXIOTPCHF
12.2 156.5 100 | SKI2STPCHE
122 1815 100 | SKISOTPCHE

rodas.a
g

&
B

Ja—



I I E-B Wheel: TPE + Polypropylene

THERMOPLASTIC STOMER - CONUS BEARING Bearing Type: Conus Bearing

Options:

= For sfandard steel products in case threadguards are required, you have to add thel letter G at the
end of the code e.g MO5OTPCBSG. For stainless steel products for the sume purpose you have fo add
the letters GX at the end of the code e.g MX050TPCBSGX.

_— - I_Z[—L: _%R » _’Uﬁ?* o stainless|
STANDARD STEEL @ +L \;5 ’ﬂ‘ (\\@5 E// Ly &\i) ﬁLg |S\Teg
ARTICLE NUMBER | | mm | [ mm | mm || Kg || ARTICLENUMBER |
MOSOTPCBS 50 24 8 28 M10X20 250 735 50 MXO50TPCBS
MO7STPCBS B 24 8 28 M10X20 305 1010 60 MXO7STPCBS
: MI0OTPCBS 00 24 8 28 M10X20 400 1235 70 MXI00TPCBS
— MI25TPCBS 15 24 8 28 M10X20 430 1485 80 MXI25TPCBS
@ | SommCBS . 75 32 10 36 M12X25 280  100.0 70 [ sxorsmeces |
SiooTecBS | 100 32 10 36 M12X25 400 1315 0 SxioTPCEs
| SIBTPCBS | 125 32 10 36 M12X25 400 1565 100 | sxisTeces
| SISOTRCBS 150 32 10 36 M12X25 450 1815 100 | Sxisoreces
MOSOTPCBSBK 5 24 8 28 M10X20 250 735 8 50  MXOSOTPCBSBK
MOTSTPCBSBK B 24 8 28 M10X20 305 1010 91 60 MXOTSTPCBSBK
MI00TPCBSBK 100 24 8 28 M10X20 400 1235 101 70 MXI00TPCBSBK
MI25TPCBSBK 15 24 8 28 M10X20 430 1485 104 80 MXI25TPCBSBK
L SOTCEK . 75 32 10 3 M12X25 280 1090 95 70 | SXO/STRCBSEK |
| SIOTRCBSBK 100 32 10 3 M12X25 400 1315 107 90 | SKIOOTPCBSEK |
| SISTRCBSBK 15 32 10 3% M12X25 400 1565 107 100 | SKI2STPCBSBK
| SISOTRCBSBK 150 32 10 3 M12x25 450 1815 112 100 | SXISOTPCBSBK
MOSOTPCBF 50 24 8 28 M 10X20 735 50 MXOSOTPCBF
MOTSTPCBF B 24 8 28 M 10X20 101.0 60 MXO7STPCBF
MI00TPCBF 00 24 8 28 M 10X20 1235 70 MXI00TPCBF
MI2STPCBF 15 24 8 28 M 10X20 1485 80 MXI25TPCBF
L SoTCE.. 75 32 10 3% M 12X25 109.0 0 SKOSTRGE
| SIOOTPCBE | 100 32 10 36 M 12X25 1315 90 SXIOOTPCBF
| SISTPCBE | 125 32 10 36 M 12X25 165 100 [SKiBsTRCEE
SISOGBE T 150 32 10 36 M 12X25 1815 100 [ SKIsOTPCBE |

rodas.a
<




Options:

= If Stainless steel conus bearings are required then you have to switch the TPC part of the code fo TPX e.g MX075TPXHS.
= |f round expander is required instead of square, change the EQ part of the code to ER. In the brackets you will have to
add the dimension required e.g EQ(21/24) for square expander and ER(19/23) for round expander.

>

Iy

P ‘ B :$j AL %‘t\ l . i§* o sST?in\ess|
STANDARD STEEL @> *‘l L 3‘/;\5/‘ -N[ 14_ “\? /) @ \‘1&4‘} @;‘ \ﬂ\\o//' \K—g =
ARTICLE NUMBER mm | Square || Round mm || Kg || ARTICLENUMBER |
MOSOTPCEQS( ) 50 24 8 28 | common for al sizes 250 135 50 MXOSOTPCEQS( )
MOTSTPCEQS() 75 24 8 28 305 1010 60 MXOTSTPCEQY( )
MIOOTPCEQS() 100 24 8 28 80x21.24 200 1235 70 MXI0OTPCEQS( )
MISTPCEQS() 125 24 8 28 002027 || s0c19.23 130 1485 80 MXI2STPCEQY( )
__ 17050 :: :g :2 90x27-31 || 80x23-26 i:z :gj: ;g __
90x31-35 || 90x26-30
CSISTPCEQS() ~ 125 32 10 36 400 165 100 | SXI2STRCEQS()
[ SISOTPCEQS()"| 150 32 10 36 450 1815 100 SXISOTPCEQS()
MOSOTPCEQS()BK 50 24 8 28 250 735 86 50  MXOSOTPCEQS( )BK
MOTSTPCEQS( )k 75 24 8 28 305 1010 91 60  MXOTSTPCEQS( )BK
MIOOTPCEQS()BK 100 24 8 28 it 400 1235 101 70 MXIOOTPCEQS( )BK
MISTPCEQS( )k 125 24 8 28 90x24-27 || 80x19-23 430 1485 104 80  MXIZSTPCEQS( )BK
CSOSTPCEQS(BT 75 ;2 10 3 el 280 1000 95 70 [SHOISTRCEQS()EK
| SIOTPCEQS()BK” 100 32 10 36 SR R 400 1315 107 90 | SXIOOTRCEQS()BK"
CSISTPCEQS(JBC. 15 :2 10 % 400 1565 107 100 | SXI2STPCEQS( )BK
(SISOTPCEQS(JBC 150 32 10 3 450 1815 112 100 | SXISOTPCEQS( )BK
MOSOTPCEQF() 50 24 8 28 735 50 MXOSOTPCEQF( )
MOTSTRCEQF() 75 24 8 28 1010 60 MXOTSTPCEQF()
MIOOTPCEQF() 100 24 8 28 80x21-24 1235 70 MXIOOTPCEQK( )
MISTPCEQF() 125 24 8 28 el e 1485 80 MXIZSTPCEQH( )
VSOBTCEQR()™ 75 32 10 3 i 109.0 70 SXOTSTRCEQR()
(USIOOTPCEQR()™ 100 32 10 36 90x31-35 || 90x26-30 1315 90 SKIOOTPCEQR()
CSISTPCEQR()| 125 32 10 36 165 100 SKIZSTPCEQR()
[ SISOPCEQR()" 150 32 10 36 1815 100 | SKISOTPCEQH() |

rodas.a
g




I I A- I Wheel: TPE + Polypropylene

THERMOPLASTIC ELASTOMER + PLAIN BEARING Bearing Type: Plain Bearing

Options:

= For sfandard steel products in case threadguards are required, you have to add thel letter G at the
end of the code e.g MOSOTPATSG. For stainless steel products for the same purpose you have to add
the letters GX at the end of the code e.g MXO50TPATSGX.

= e S 5 Sﬁs i“g 17 ﬁ‘— stainless|
STANDARD STEEL @ +L S\/Xj\ "ﬂ‘ 10 = :@ o O @ E @
ARTICLE NUMBER | | mm | mm mm || Kg || ARTICLENUMBER |
MO50TPATS 50 24 8 28 60x60 43-49x43-49 6.4 250 735 50 MXO050TPATS
MOTSTPATS 7% 24 8 28  60x60 43-49x43-49 64 305 1010 60 MXO7TPATS
MI0OTPATS 100 24 8 28 60x60 43-49x43-49 64 400 1235 70 MXI00TPATS
— MI25TPATS 125 24 8 28  60x60 43-49x43-49 64 430 1485 80 MXI25TPATS
@ | SOBIPATS . 75 32 10 36  90x70 65-75x45-55 9 280  109.0 0 SXOSTPATS
" SlootPATS | 100 32 10 36  90x70 65-75x45-55 9 400 1315 90 SKIOTPATS
DUSIBwARS™ 125 32 10 36  90x70 65-75x45-55 9 400 1565 100 SXISTPATS
DUSEoAS™ 150 32 10 36  90x70 65-75x45-55 9 450 1815 100 SXISOTPATS

MO50TPATSBK 50 24 8 28 60x60 43-49x43-49 64 25.0 735 86 50 MXO0S0TPATSBK
MO75TPATSBK 75 24 8 28 60x60 43-49x43-49 6.4 305 101.0 91 60 MX075TPATSBK
MIO0TPATSBK 100 24 8 28 60x60 43-49x43-49 6.4 400 1235 101 70 MXI00TPATSBK
8

MI25TPATSBK 125 24 28 60x60 43-49x43-49 6.4 430 1485 104 80 MXI25TPATSBK
WOSoPABK 75 32 10 36 90x70 65-75x45-55 9 280 1000 95 70 | LSKOZSTPATSEK
| SIOOTPATSBK | 100 32 10 36  90x70 65-75x45-55 g 400 1315 107 90 | SKIOOTPATSBK |
| SISTPATSBK | 125 3 10 3  90x70 65-75x45-55 9 400 1565 107 100 [ SXI2STPATSBK
| SISOTPATSBK | 150 32 10 36  90x70 65-75x45-55 9 450 1815 112 100 | SKISOTPATSBK |

MOSOTPATF 5 24 8 28  G60x60 43-49x43-49 6.4 735 50 MXOSOTPATF
MOTSTPATF 75 24 8 28  60x60 43-49x43-49 64 101.0 60 MXOTSTPATF
MIOOTPATF 100 24 8 28  60x60 43-49x43-49 64 1235 70 MXI00TPATF
MIZSTPATF 125 24 8 28  60x60 43-49x43-49 64 1485 80 MXI25TPATF
DUSOonsTAE 75 32 10 36 90x70 65-75x45-55 g 109.0 0 SXOSTPATE
OSiooeA ™ 100 32 10 36  90x70 65-75x45-55 9 1315 90 SXIOOTPATF
DS 125 32 10 36  90x70 65-75x45-55 9 156.5 100 [SKizsTRATE |
DOUSEOATETY 150 32 10 36  90x70 65-75x45-55 9 1815 100 [ SXISOTPATE |

N
g
G
[m}




STANDARD STEEL @ ‘J:L— @ *EG* @

= _> D‘* stainless
@ @ Steel
mm

ARTICLE NUMBER | | mm | | mm | || Kg || ARTICLENUMBER |
MOSOTPAHS 50 24 8 28 102 250 735 50 MXOSOTPAHS
MOTSTPAKS 75 24 8 28 102 305 1010 60 MXOTSTPAHS
MIOOTPAHS 100 24 8 28 102 400 1235 0 MXIOOTPAHS
MI2STPAHS 125 24 8 28 102 430 1485 80 MXBTAHS &
| SUSTPAHS | 15 32 10 36 122 280 1000 0 SXOSTPAHS @
| SIOOTPAHS" 100 32 10 36 122 400 1315 90 SXIOOTPAHS
| SISTPARSTT 125 32 10 36 122 400 1565 100 SKIBTPAHS
| SISOTPAHSTT 150 32 10 36 122 450 1815 100 SXISOTPAHS
MOSOTPAHSBK 50 24 8 28 102 250 735 8 50 | MXOSOTPAHSBK
MO7STPAHSBK 75 24 8§ 28 102 305 1010 91 60 MXOTSTPAHSEK
MIGOTPAHSBK 100 24 8 28 102 400 1235 101 70 | MXIOOTPAHSEK
MISPAHSBK 125 24 8 28 102 430 1485 104 80 | MXI2STPAHSEK i~
| SOISTPAHSBK . 75 a2 10 36 122 280 1000 95 70  [SKGTPARSEK
| SIOOAHSBK"" 100 32 10 3 122 400 1315 107 90 [ SKi00TPAHSEK "]
| SISTPAHSBK™ 125 32 10 3 12.2 400 1565 107 100 | SKI2STPAHSBK
| SISOTPAHSBKT 150 32 10 36 122 450 1815 112 100 | SKISOTPAHSBK
MOSOTPAKF 50 24 8 28 102 735 50 MXOSOTPAHF
MOTSTPAKF 5 224 8 28 102 1010 60 MXOTSTPAHF
MIOOTPAHF 00 24 8 28 102 1235 0 MXIOOTPAHF
MI2STPAKF 125 24 8 28 102 1485 80 MXIZSTPAHF
SOSTPAHE | 75 32 10 36 122 109.0 0 SXOSTPAHE @
(SIOOPARE" 100 32 10 3 122 1315 90 SKI0OTPAHE
SISPAHETTT 125 32 10 3 122 156.5 100 [ SKIZSTRARE |
(SISOPARETTY 50 32 10 36 122 1815 100 [ SKISOTPARF |

=)
o
‘!ﬂ
o
W




TPA-B

Wheel: TPE -+ Polypropylene

THERMOPLASTIGa@ ASTOMER - PLAIN BEARING Bearing Type: Plain Bearing

Options:

= For sfandard steel products in case threadguards are required, you have to add thel letter G at the
end of the code e.g MO5SOTPABSG. For stainless steel products for the same purpose you have to add
the letters GX at the end of the code e.g MX050TPABSGX.

vl
N B A stainless
STANDARD STEEL @ ;l Q§ ’ﬂ¢ @ @ i |\T6£|
ARTICLE NUMBER | | mm | [ mm Kg | [ ARTICLENUMBER |
MOS0TPABS 50 24 8 28 M 10X20 25.0 735 50 MX050TPABS
MO7STPABS 5 4 8 28 M10X20 305 1010 60 MXOT5TPABS
- MIOOTPABS 00 24 8 28 M10X20 400 1235 70 MXI00TPABS
— MI25TPABS 15 24 8 28 M10X20 430 1485 80 MXI25TPABS
@ | SosmeABS . 75 32 10 36 M12X25 280 1000 0 SXOTSTPABS
| SiooTABS | 100 32 10 36 M12X25 400 1315 90 SKIOTPABS
| SlsTABS | 125 32 10 36 M12X25 400 1565 100 | SXI2sTPABS
| SlsoeABS 150 32 10 36 M12X25 450 1815 100 | SKISOTPABS
MOSOTPABSBK 50 24 8 28 M10X20 250 735 86 50 MXOSOTPABSBK
MOTSTPABSEK 5 4 8 28 M10X20 305 1010 91 60 MXOTSTPABSBK
MIOOTPABSBK 00 24 8 28 M10X20 400 1235 101 70 MXIOOTPABSBK
MI2STPABSBK 15 24 8 28 M10X20 430 1485 104 80 MXI2STPABSBK
| SOSTPABSBK 75 32 10 36 M12X25 280 1000 95 70 | SXO/STPABSEK
| SIOTPABSBK 100 32 10 3 M12X25 400 1315 107 90 | SKIOOTPABSEK |
| SISTPABSBK 15 32 10 3% M12X25 400 1565 107 100 | SKI2STPABSBK
[ SISOPABSBK | 150 32 10 36 M12Xx25 450 1815 112 100 | SKISOTPABSBK
MOSOTPABF 50 24 8 28 M 10X20 735 50 MXOSOTPABF
MOTSTPABF 5 24 8 28 M 10X20 101.0 60 MXOTSTPABF
MI00TPABF 00 24 8 28 M 10X20 1235 70 MXI00TPABF
MI2STPABF 15 24 8 28 M 10X20 1485 80 MX|25TPABF
| somTeABE | 75 32 10 36 M 12X25 109.0 0 SXOTSTPABE
SIOABE 100 32 10 36 M 12X25 1315 90 SXIOTPABE
CUSISTPABETT 125 32 10 36 M 12X25 156.5 100 SKISTPABF
| SISOTPABE 150 32 10 36 M 12X25 1815 100 | SXISOTPABF |

rodas.a
=




Options:

= [f round expander is required instead of square, change the EQ part of the code o ER. In the brackets you will have to
add the dimension required e.g EQ(21/24) for square expander and ER(19/23) for round expander.

| e o & L A
STANDARD STEEL ‘:@ ‘PLUQ’ @ ’ﬁ* @ @ i @ @ @ |\63|

ARTICLE NUMBER | | mm | [ square || Round | | mm || Kg || ARTICLENUMBER |
MOSOTPAEQS( ) 50 24 8 28 |___common for el sizes | 250 135 50 MXOSOTPAEQS( )
MO75TPAEQS( ) 75 24 8 28 305 101.0 60 MXO7STPAEQS( )
MIOOTPAEQS() 100 24 8 28 80x21.24 400 1235 70 MXIOOTPAEQS( )
MI25TPAEQS( ) 125 24 8 28 00x2427 || 80xie-23 430 1485 80 MXI25TPAEQS( )
- BRI R
90x31-35 || 90x26-30 '
(SISTPAEQS() | 125 32 10 36 400 165 100 SXISTPAEQS()
(SISOTPAEQGS()" 150 32 10 36 450 1815 100 SXISOTPAEQS()
MOSOTPAEQS(JBK 50 24 8 28 250 735 86 50  MXOSOTPAEQS( )BK
MOTSTPAEQS(JBK 75 24 8 28 305 1010 91 60 MXOTSTPAEQS( )BK
MIOOTPAEQS( )BK 100 24 8 28 80x21-24 400 1235 101 70 MXIOOTPAEQS( )BK
MI2STPAEQS( )BK 125 24 8 28 90x24-27 || 80x19-23 430 1485 104 80  MXI2STPAEQS( )BK
SUSTPAEQS(BKY 75 ;2 10 3 e s 280 1000 95 70 [SHOISTPAEGS()EK
(SIOOTPAEQS()BK” 100 32 10 36 Sl 400 1315 107 90 | SXIOOTPAEQS(JBK"
(SISTPAEQS(JBC. 15 2 10 % 400 1565 107 100 | SXI2STPAEQS( )BK
| SISOTPAEQS(JBKT 150 32 10 3 450 1815 112 100 | SKISOTPAEQS( )BK
MOSOTPAEQF( ) 50 24 8 28 735 50 MXOSOTPAEQR( )
MOTSTPAEQF( ) 5 a4 8 28 101.0 60 MXOTSTPAEQH( )
MIOOTPAEQF() 100 24 8 28 80x21-24 1235 70 MXIOOTPAEQK( )
MISTPAEQR() 125 24 8 28 90x24:27 || 80x18-23 1485 80 MXIZSTPAEQK( )
CSOBTAEH) 75 32 10 36 L 100.0 70 SYOTSTPAEQR()
(USIGOTPAEQR(Y™ 100 32 10 36 90x31-35 || 90x26-30 1315 90  SKIOOTPAEQR()
[ SISTPAEQR()"| 125 32 10 36 165 100 SKIZSTPAEQR()
(SISOTPAEQE()" 150 32 10 36 1815 100 SXISOTPARQF()

rodas.a
g




NA-T

NYLON 6 + PLAIN BEARING

Wheel:

Nylon 6

Bearing Type:

Plain Bearing

= = S 5 S 0 g ~ R stainless|
STANDARD STEEL (/{—//\": +L %5 ’ﬂ‘ 10 = ﬂé o § > &) @‘ @
ARTICLE NUMBER | | mm | mm mm || Kg || ARTICLENUMBER |
MOSONATS 5 24 8 28  60x60 43-49x43-49 64 250 735 50 MXOSONATS
MOTSNATS 75 24 8 28  60x60 43-49x43-49 64 305 1010 60 MXOTSNATS
MIOONATS 100 24 8 28  60x60 43-49x43-49 64 400 1235 70 MXI0ONATS
— MI2SNATS 125 24 8 28  60x60 43-49x43-49 64 430 1485 80 MXI25NATS
@ | SOBNAS 75 32 10 36  90x70 65-75x45-55 9 280 109.0 0 SXOTSNATS
_ SIONAS | 100 32 10 36  90x70 65-75x45-55 9 400 1315 90 SKIOONATS
DOUSisNASY 125 32 10 36  90x70 65-75x45-55 9 400 1565 100 [ SxisNATS
DOUSISONAS™™ 150 32 10 36  90x70 65-75x45-55 9 450 1815 100 SXISONATS
MOSONATSBK 50 24 8 28  G0x60 43-49x43-49 64 250 735 8 50 MXOSONATSBK
MOTSNATSBK 75 24 8 28  GOx60 43-49x43-49 64 305 1010 91 60 MXOTSNATSBK
MIOONATSBK 100 24 8 28  60x60 43-49x43-49 64 400 1235 101 70 MXIOONATSBK
MI25NATSBK 125 24 8 28 60x60 43-49x43-49 6.4 430 1485 104 80 MXI25NATSBK
DOSHNATK 75 32 10 36 90x70 65-75x45-55 9 280 1000 95 70 | SKOTSNATSBK.
| SIOONATSBK | 100 32 10 36  90x70 65-75x45-55 9 400 1315 107 90 | SKIOONATSBK |
| SISNATSBK | 125 3 10 3  90x70 65-75x45-55 9 400 1565 107 100 [ SXIZSNATSBK
(SISONATSBK| 150 3 10 3  90x70 65-75x45-55 9 450 1815 112 100 | SXISONATSBK
MOSONATF 5 24 8 28  60x60 43-49x43-49 6.4 735 50 MXOSONATF
MOTSNATF 7% 24 8 28  60x60 43-49x43-49 64 101.0 60 MXOTSNATF
MIOONATF 100 24 8 28  60x60 43-49x43-49 64 1235 70 MXI0NATF
MI2SNATF 125 24 8 28  60x60 43-49x43-49 64 1485 80 MXI25NATF
| SOBNATE. | 75 32 10 36  90x70 65-75x45-55 9 109.0 0 SXOTNATF
DOUSIOONATE™ 100 32 10 36  90x70 65-75x45-55 9 1315 90 SXIOONATF
CUSIBNATET 125 32 10 36  90x70 65-75x45-55 9 1565 100 [ SKISNATE
DOUSISONATETY 150 32 10 36  90x70 65-75x45-55 9 1815 100 | SXISONATF

rodas.a
=




>«

. F _> N = _" D‘* stainless
STANDARD STEEL @ ‘J_L— @ *ﬂ* @ @ @ @ |ieﬁl|

ARTICLE NUMBER | | mm | [ mm || mm || Kg || ARTICLENUMBER |
MOSONAHS 50 24 8 28 10.2 250 735 50 MX0S0NAHS
MO75NAHS 75 24 8 28 10.2 305 101.0 60 MX075NAHS
MIOONAHS 00 24 8 28 102 400 1235 70 MXI ONAHS
MI2SNAHS 125 24 8 28 102 430 1485 80 SN &
CSoNAHS T 15 32 10 36 122 280 1000 0 SXONAS @
©USIOONAHS | 100 32 10 36 122 400 1315 90 SKIONAHS
| SIBNAHS T 125 32 10 36 122 400 1565 100 | SKIZNAHS
[ SISONAHS T 150 32 10 36 122 450 1815 100 SXISONAHS
MOSONAHSBK 50 24 8 28 102 250 735 8 50 | MXOSONAHSBK
MOTSNAHSBK 75 24 8§ 28 102 305 1010 91 60 MXOTSNAHSBK
MIOONAHSK 100 24 8 28 102 400 1235 101 70 MXIOONAHSBK
MISNAHSBK 125 24 8 28 102 430 1485 104 80 MXI2SNAHSBK i~
| SOTSNAHSBK | 75 32 10 36 122 280 1000 95 70 [USKOTNAREN
CSIOONAHSBK | 100 32 10 36 122 400 1315 107 o0  [FUSKIGONARSEKIY
SISNAHSBK 125 32 10 36 122 400 1565 107 100 [OSKIZSNARSEK ]
| SISONAHSBC 150 32 10 3 122 450 1815 112 100 | SXISONAHSBK™ |
MOSONAH 50 24 8 28 102 735 50 MXOSONAHE
MOTSNAHF 5 4 8 28 102 1010 60 MXOTSNAHF
MIOONAH 00 24 8 28 102 1235 0 MXIOONAHF
MI2SNAHF 125 24 8 28 102 1485 80 MXI 25NAHF
CUSONARE | 75 32 10 36 122 109.0 0 SKOTSNAHE @
USIONAHE" 100 32 10 36 122 1315 90 SKIOONAHE
| SISNAHET| 125 32 10 36 122 165 100 | SXIBNAHE
| SBONAHET 150 32 10 3 122 1815 100 | SKISONAHF

g
G
[m}
~




NA-B Wheel: Nylon 6

NYLON 6 - PLAI Bearing Type: Plain Bearing

v+4
N stainless|
STANDARD STEEL f// > \i// ’ﬂ‘ /\\OD K& ﬁ? @ D @

ARTICLE NUMBER | | mm | || Kg | [ ARTICLENUMBER |

MO50NABS 50 24 8 28 M 10X20 25.0 735 50 MXO050NABS

MO75NABS 75 24 8 28 M 10X20 305 101.0 60 MX075NABS

. MI0ONABS 100 24 8 28 M10X20 400 1235 70 MXI00NABS

— MI25NABS 125 24 8 28 M10X20 430 1485 80 MX125NABS
@ | SoBNAB . 75 32 10 36 M12X25 280 1000 70 [ sxorsnags |
. SlooNABS 100 32 10 36 M12X25 400 1315 90 SXIONABS
CSIBNABS | 125 32 10 36 M12X25 400 1565 100 | SxisNABs
| SISONABS | 150 32 10 36 M12x25 450 1815 100 | SxisoNAss

MOSONABSBK 50 24 8 28 M10X20 250 735 8 50 MXOSONABSBK

MOTSNABSBK % 224 8 28 M10X20 305 1010 91 60 MXO75NABSBK

MI0ONABSBK 0 24 8 28 M10X20 400 1235 101 70 MXI00NABSBK

MI25NABSBK 125 24 8 28 M10X20 430 1485 104 80 MXI25NABSBK
SOTSNABSBK . 75 32 10 36 M12X25 280 1090 95 70 | SGSNABSBK |
| SIOONABSBK 100 32 10 3 M12X25 400 1315 107 90 | SKIOONABSBK |
| SISNABSBK 125 32 10 36 M12X25 ~ 400 1565 107 100 | SXI2SNABSBK
| SISONABSBK | 150 32 10 36 M12x25 450 1815 112 100 | SKISONABSBK

MOSONABF 50 24 8 28 M 10X20 735 50 MXOSONABF

MOTSNABF % 24 8 28 M 10X20 101.0 60 MXO75NABF

MI0ONABF 00 24 8 28 M 10X20 1235 70 MX1 0ONABF

MI25NABF 125 24 8 28 M 10X20 1485 80 MXI25NABF
| SOBNABE | 75 32 10 36 M 12X25 109.0 0 SXONABE
| SIOONABE 100 32 10 36 M 12X25 1315 90 SXIONABF
| SISNABE | 15 32 10 36 M 12X25 165 100 [ SKiRsNABE
DUUSISONABET 150 32 10 36 M 12X25 1815 100 SKISONABF

rodas.a
<




Options:

= |f round expander is required instead of square, change the EQ part of the code to ER. In the brackets you will have to
add the dimension required e.g EQ(21/24) for square expander and ER(19/23) for round expander.

LY

,

@ 4G N S A v v T

STANDARD STEEL C) +‘l L @jj M{ ]* @ @ &/ @ E\\O// @

ARTICLE NUMBER | mm || square || Round | mm || Kg || ARTICLENUMBER |
MISONAEQS() 50 24 8 25 | commonforalisizes 250 735 50 MYOSONAEQS( )
MO75NAEQS( ) 75 24 8 28 305 101.0 60 MXO7SNAEQS( )
MIOONAEQS() 100 24 8 28 801,24 400 1235 70 MXIOONAEQS( )
MISNAEQS() 125 24 8 28 o227 || 801023 1530 1485 80 MXI2SNAEQS( )

LN s 2 10 3% 90x27-31 || 80x23-26 S IR 0 SOTNAEGK()
CSUOONAEQS()| 100 2 I 90x31-35 || 90x26-30 S I W SKONAEQS()
| SISNAEQS() T 125 32 10 36 400 165 100 SKIZNAEQS()
(SSONAEQS()| 150 32 10 36 450 1815 100 SKISONAEQS()

MOSONAEQS( )8k 50 24 8 28 250 735 86 50 MXOSONAEQS( )BK

MOUTNAEQS()BK 75 24 8 28 305 1010 91 60 MXOTSNAEQS( )BK

MIOONAEQS()BK 100 24 8 28 80x21-24 100 1235 101 70 MXIOONAEQS( )BK

MISNAEQS()BK 125 24 8 28 90x24-27 || 80x19-23 430 1485 104 80  MXI2SNAEQS( )BK

USOBNAES(BKT 75 ;2 10 3 e 280 1000 95 70 [ISKOTSNAEQS()BKY
| SIOONAEQS(JBK" 100 32 10 36 Sl e 400 1315 107 90 | SKIGONAEQS()BK"
| SISNAEQS(JBKT 15 :2 10 3 400 1565 107 100 | SKI2SNAEQS()BK"
| SSONAEQS(JBKT 150 2 10 3 450 1815 112 100 | SXISONAEQS()BK"
MOSONAEQF( ) 50 24 8 28 735 50 MXOSONAEQR( )
MOTSNAEQF( ) 5 24 8 28 1010 60 MXOTSNAEQK()
MIOONAEQF() 100 24 8 28 80x21-24 1235 70 MXIOONAEQF( )
MI2SNAEQF( ) 125 24 8 28 90x24-27 | B0x19-23 1485 80 MXI2SNAEQR( )
SOBMAEGROY 75 32 10 36 e Il 109.0 70 SXOTSNAEQF()
(USIONAEQF()™ 100 32 10 36 90x31-35 || 90x26-30 1315 90 SXIOONAEQR()
(OSISNAEQEC)| 125 32 10 36 165 100 SXISNAEQR()
(SISONAEQGEC)™ 150 32 10 36 1815 100 [ SXISONAEQR() |

rodas.a
g




PA-T

POLYPROPYLENE - PLAIN BEARING

20

Wheel:

Polypropylene

Bearing Type:

Plain Bearing

. S S : & o < g o %R ? N _iﬁg* S SST(;imlessl
STANDARD STEEL > L \{5 ’ﬂ‘ 10 © t‘é © u &) @ Qﬁ/ Ko |\e§
ARTICLE NUMBER | | mm | mm mm || Kg || ARTICLENUMBER |
MOS0PATS 50 24 8 28 60x60 43-49x43-49 6.4 25.0 735 50 MX050PATS
MO75PATS 75 24 8 28 60x60 43-49x43-49 6.4 305 101.0 60 MXO75PATS
MI0OPATS 100 24 8 28  60x60 43-49x43-49 64 400 1235 70 MXI00PATS
MI25PATS 125 24 8 28  60x60 43-49x43-49 64 430 1485 80 MXI25PATS
| SOBPATS | 75 32 10 36  90x70 65-75x45-55 9 280 1090 0 SXOTSPATS
© SIOOPATS | 100 32 10 36  90x70 65-75x45-55 9 400 1315 90 SXIOPATS
WOUSISPASY 125 32 10 36  90x70 65-75x45-55 9 400 1565 100 [ sxiseATs
DOUSISPATS 50 32 10 36  90x70 65-75x45-55 9 450 1815 100 SKISOPATS
MO50PATSBK 50 24 8 28 60x60 43-49x43-49 64 25.0 735 86 50 MXO050PATSBK
MO75PATSBK 75 24 8 28 60x60 43-49x43-49 64 305 101.0 91 60 MXO75PATSBK
MIOOPATSBK 100 24 8 28 60x60 43-49x43-49 6.4 40.0 1235 101 70 MX100PATSBK
MI25PATSBK 125 24 8 28  60x60 43-49x43-49 64 430 1485 104 80 MXI25PATSBK
DUSOBPATBCY 75 a2 10 36 90x70 65-75x45-55 9 280 1000 95 70 | SKOTSPATSBK
| SIOOPATSBK " 100 32 10 36  90x70 65-75x45-55 g 400 1315 107 90 | SXOoPATSBK |
| SISPATSBK | 125 3 10 36  90x70 65-75x45-55 9 400 1565 107 100 | SXI2SPATSBK |
[ SISOPATSBCTY 150 32 10 36  90x70 65-75x45-55 9 450 1815 112 100 | SKISOPATSBK
MOSOPATF 50 24 8 28  60x60 43-49x43-49 6.4 735 50 MXOSOPATF
MOTSPATF 7% 24 8 28  60x60 43-49x43-49 64 101.0 60 MXOTSPATF
MI00PATF 100 24 8 28  60x60 43-49x43-49 64 1235 70 MXI00PATF
MI25PATF 125 24 8 28  60x60 43-49x43-49 64 1485 80 MXI25PATF
| SOPATE 75 32 10 36  90x70 65-75x45-55 9 109.0 0 SKOSPATF
DOUSIOOPATE™ 100 32 10 36  90x70 65-75x45-55 9 1315 o0 [ SKiooPATE
(USISPATETY 125 32 10 36  90x70 65-75x45-55 9 1565 100 [ SKIZPATE
[ USISOPATETY 150 32 10 36  90x70 65-75x45-55 9 1815 100 | SKISOPATF

rodas.a
<




o
STANDARD STEEL ‘/// > - ffi ﬂﬂ‘
ARTICLE NUMBER | | mm |

MOSOPAHS 50 24 8 28
MOTSPAHS B 4 8 28
MI0OPAHS 100 24 8 28
MI2SPAHS 125 24 8 28

USRS s 32 10 36

©SIoOPAHS 100 32 10 36

DUSisARS T 125 32 10 36

DOUSISOPARSTY 150 32 10 36

MOSOPAHSBK 50 24 8 28
MOTSPAHSBK 5 24 8 28
MI00PAHSBK 100 24 8 28
MI25PAHSBK 15 24 8 28

| SOTPAHSBK 75 32 10 36

[USIOOPARSBK™ 100 32 10 36

CUSIPAHSBKTT 125 32 10 36

SISOPAHSBK| 150 32 10 36

MOSOPAHF 50 24 8 28
MOTSPAHF B 4 8 28
MI0OPAHF 100 24 8 28
MI25PAHF 15 24 8 28

UUSoeARETT 15 32 10 36

UUUSIOPAHET 100 32 10 36

DUSISPAHETY 123 32 10 36

DOUSEOPARETY 150 32 10 36

e - - ¢ - stainless
¥V OO Y e b
mm || mm || Kg || ARTICLENUMBER |
10.2 250 735 50 MXOS0PAHS
10.2 305 1010 60 MXO7SPAHS
10.2 400 1235 70 MXI00PAHS
10.2 430 1485 80 MX125PAHS
12.2 280  109.0 70 SXOTSPAHS
12.2 400 1315 90 SXIOPAHS
122 400 1565 100 | SKI2SPAHS
12.2 450 1815 100 | SKISOPAHS |
10.2 250 735 8 50 MX050PAHSBK
10.2 305 1010 91 60 MXO7SPAHSBK
10.2 400 1285 101 70 MX100PAHSBK
10.2 430 1485 104 80 MXI125PAHSBK
12.2 280 1000 95 70 SXOTSPAHSBK
122 400 1315 107 90 | SXIOOPAHSBK |
122 400 1565 107 100 | SKI2SPAHSBK™
122 450 1815 112 100 | SXISOPAHSBK™
10.2 735 50 MXO0S0PAHF
10.2 101.0 60 MXO7SPAHF
10.2 1235 70 MXI100PAHF
10.2 148.5 80 MX125PAHF
12.2 109.0 70 SXOTSPAHF
12.2 1315 9 SXIOPAHF
12.2 156.5 100 | SXISPAHF
122 1815 100 | SXISOPAHF

rodas.a
—~

21




PA-B

Polypropylene

POLYPROPYLENGzmPLAIN BEARING Bearing Type:

Plain Bearing

Vo< o< w |
STANDARD STEEL > &{/ ’ﬂ¢ “‘\\2/ ) H\\,g//“ Q// @ Rg
ARTICLE NUMBER | | mm [ mm | mm || Kg || ARTICLENUMBER |
MOSOPABS 50 24 8 28 M 10X20 250 735 50 MX050PABS
MO75PABS 75 24 8 28 M 10X20 305 101.0 60 MX075PABS
; MI00PABS 00 24 8 28 M10X20 400 1235 70 MX100PABS
5 MI25PABS 15 24 8 28 M10X20 430 1485 80 MK 25PABS
@ | SO7sPABS . 75 32 10 36 M12X25 280  100.0 0 SXTSPABS
O SI0PABS| 100 32 10 36 M12X25 400 1315 9 SXI00PABS
| SIsPABS | 125 32 10 36 M12X25 400 1565 100 [ SKiseaBs
| SIsoPABS T 150 32 10 36 M12X25 450 1815 100 | SKISOPABS
MOS0PABSBK 50 24 8 28 M 10X20 250 735 86 50 MX050PABSBK
MO75PABSBK 75 24 8 28 M 10X20 305 101.0 91 60 MX075PABSBK
MIO0PABSBK 00 24 8 28 M10X20 400 1235 101 70 MXIOOPABSBK
MI25PABSBK 15 24 8 28 M10X20 430 1485 104 80 MXI2SPABSBK
CSOSPABSBK 75 a2 10 3 M12x25 280 1090 95 70 | SKO7SPARSEK |
O SIooPABSBKTT 100 32 10 3 M12X25 400 1315 107 90 | SKIOOPABSBK |
OShPABSBCTT 15 om0 % M12X25 400 1565 107 100 | SXI2SPABSBK
| SBOABSBKTT 450 32 10 3 M12x25 450 1815 112 100 | SKISOPABSBK
MOSOPABF 50 24 8§ 28 M 10X20 735 50 MXOS0PABF
MO7SPABF 5 24 8 28 M 10X20 1010 60 MXO75PABF
MI00PABF 100 24 8 28 M 10X20 1235 70 MX100PABF
MI25PABF 15 24 8 28 M 10X20 1485 80 X1 25PABF
CSOPABE 75 32 10 3% M 12X25 109.0 00 SXUSPABF
| SIOOPABE | 100 32 10 36 M 12X25 1315 90 SKIOOPABF
| SISPABE 125 32 10 36 M 12X25 165 100 [ SKI2SPABE |
SISOPABETTT 150 32 10 36 M 12X25 1815 100 [ SKISOPABE ™|

rodas.a
=




Options:

= |f round expander is required instead of square, change the EQ part of the code to ER. In the brackets you will have to
add the dimension required e.g EQ(21/24) for square expander and ER(19/23) for round expander.

L S v S v
STANDARD STEEL i‘/,;/)‘\'} +“ - ;5/ M{ ]* @ @ NS @ \‘&O’/ Kg. o
| ARTICLE NUMBER | | mm || Square || Round mm || Kg || ARTICLENUMBER |
MOSOPAEQS( ) 50 24 8 28 [ common for all sizes 250 735 50 MXOSOPAEQS| )
MO75PAEQS( ) 75 24 8 28 305 101.0 60 MX075PAEQS( )
MIOOPAEQS( ) 100 24 8 28 80x21.24 400 1235 70 MXIOOPAEQS( )
MIZSPAEQS( ) 15 24 8 28 002027 || a0c19.23 430 1485 80 MXI2SPAEQS()
USRS s 2 0 3 90x27-31 || 80x23-26 1 0 SOTMECS()
CUSIPARGS() o0 2 U 90x31-35 || 90x26-30 S I 9 SKIOPAEQS()
| SISPAEQS()"" 125 32 10 36 400 165 100 | SKIsPAEQS()
| SISOPAEQS() | 150 32 10 36 450 1815 100 SXISOPAEQS()
MOSOPAEQS()BK 50 24 8 28 250 735 86 50 MXOSOPAEQS( )BK
MOTSPAEQS()BK 75 24 8 28 305 1010 91 60 MXOTSPAEQS( )BK
MIOOPAEQS(JBK 100 24 8 28 80x21-24 00 1235 101 70 MXIOOPAEQS( )BK
MISPAEQS(JBK 125 24 8 28 02427 || 80x19-23 430 1485 104 80  MXIZSPAEQS( )BK
O 90x27-31 || 80x23-26 20 w0 %5 70 [SXOTPAEGSCOBKN
| SIOOPAEQS(JBK| 100 32 10 36 03135 || 90x26-30 400 1315 107 90 [ SKIOOPAEQS(BK"
| SISPAEQS(JBK. 125 32 10 3 400 1565 107 100 | SXI2SPAEQS()BK
| SISPAEQS(JBC 150 32 10 3 450 1815 112 100 | SXISOPAEQS()BK™
MOSOPAEQF( ) 50 24 8 28 735 50 MXOS0PAEQF( )
MOTSPAEQF( ) 5 4 8 28 101.0 60 MXOTSPAEQF( )
MIOOPAEQF( ) 100 24 8 28 80x21-24 1235 70 MXIQOPAEQR( )
MIZSPAEQF( ) 15 24 8 28 SOed2r | | 80923 1485 80 MXI2SPAEQR( )
DOSOPREGEYY 15 32 10 36 902731 || 80x23-26 100.0 0 SXOTSPAEQR()
USIOOPAEQEC)™ 100 32 10 36 90x31-35 || 90x26-30 1315 90 SXIOPAEQF()
(SISPAEQE()" 125 32 10 36 165 100 | SKI2SPAEQF() |
(SISOPAEQF()"| 150 32 10 36 1815 100 | SKISOPAEQE()

rodas.a
g







= - '-,- 1. e
in Stainless Steel




RODA S.A.

Sindos Industrial Area
Sector C 0.T. 48b

P0. Box 171

57022

Thessaloniki

GREECE

Tel: ++30.2310.7956 11 - 13
Fax: ++30.2310.79 56 14

www.roda.gr
info@sind.roda.gr

90le TS0



